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e HEAT: 1. Th N FAAR & FH @ FF Faar §77 AT & @ § 9 [Aafead A& Jar &
(F) 6 & (@) 24 ©e
(3IN) 48 TE (&) 72 ©&

Question Number: 1. A govt. servant is deemed to have been placed under suspension if he is detained in
custody for at least

(a) 6 hours (b) 24 hours

(c) 48 hours (d) 72 hours

WA WEAT: 2. WEIH! & AT srepenwerca® wiisd e gar 32

(F) HA F FA 397 fAcus dg & USRRT @) & fAces

(a1) S&AT ITgF G RIEEED
Question Number:2. Who is the disciplinary authority for Assistants?

(a) An officer of at least the rank of Dy. Director (b) Regional Director

(c) Insurance Commissioner (d) Director General

T WEAT: 3. qE TWER & & o W, F e ufa Rer oo S arem AT 4T 82
(@) TTF 100/- 9+ f&eT (@) T 200/- TAF A
(31) T9F 250/- 9w oA () 9 500/- GAF faeT

Question Number:3. What is the penalty per day to be imposed against a CPIO for giving misleading
information?

(a) Rs.100/- per day (b) Rs.200/- per day

(c) Rs.250/- per day (d) Rs.500/- per day

W HEAT: 4. A F HUFR FfAfAww F qead Y goF F @AM A g

(@) g Sfa / 3gia seeid (@) 65 AT § FW aRss ARTRS

(31) eUHETH (&) I8 Y@ & ST arel S
Question Number:4. Who is exempt from payment of fee under RTI Act?

(a) SC/ST (b) Senior Citizen above 65

(c) Minority (d) Persons below poverty line

el EAT: 5. fFd WE Afem FAA A 3WF @ Fa1 FA F AVFAH A ey 99 FW fow
39aeY §.

(&) 730 feeT (@) 700 o=t

() 630 fea () 365 feT

Question Number:5. The maximum period CCL that can be available by a woman govt. servant during entire
service is

(a) 730 days (b) 700 days

(c) 630days (d) 365 days

Rough Work
% P
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e HEAT: 6. iﬂqca aﬁﬁ' Ca Hﬂoﬂia 3

Question Number: 98. Penal provision for failure to pay contributions are given under (®) 7 e @) 15 e
(a) Section 84 (b) Section 85
(c) Section 85A (d) Section 85B () 21 fet (|) 3 feor
gos TEAT: 99, NENTHT §F5?F|T F 3T AR AT F 39 F T B o7 @ ¥ B gaue ¥ dea- Question Number: 6. Paternity leave is allowed for
51aY 513 (a) 7 days (b) 15 days
EEF)) arT 5 e EE)) o 515 (c) 21 days (d) 3 days
a7) YIRT ) YgRT
wooT WEAT: 7. fAafea W Afger FHAd Ft sfwaw frae et & AT Age sawnr Ay R
g:::,?::g: !\Iumber: 99. Commuting accidents are now accepted as employment injury, under which (%) 45 fet (@) 90 fet
(a) Section 51B (b) Section 51C () 180 o=t (&) 9T T &
(c) Section 51D (d) Section 51E
Question Number:7. What is the maximum period of Maternity leave admissible to unmarried female govt.
wear wwAT: 100. & @S TR e S servant?
g . ¢ 5 (a) 45 days (b) 90 days
E$)) FI.. ﬁlm:ﬁ canr N EET)) ;l_:q mem; CEIRY (€] 180 daye e e
1) 3reye], S0 9 CaRT 13) EIRCAES GanrT

9o HEAT: 8. FAT ATl 3391 vl gR a1 sgfar & Wi A e & ¥&d ¢

Question Number: 100. Regional Boards are set up by

(a) ESIC (b) State Govt. () & (=) =Fel . .
(c) Chairman, ESIC (d) Central Govt. (1) HaTH TeTeNr F fadw W (|) IRFT F ¥ g Tl
Question Number: 8. Can all India LTC be admissible in combination with tour or transfer
(a) Yes (b) No
(c) Atthe discretion of competent authority (d) None of the above

wooT WEAn: 9. fhw gt & e vadr e it A o wedht @

(%) ATJcd 3dehmr (@) 3TETTA 3R

@31) gRafda sraenrer () TATT STHTS 3Taehrer
Question Number:9. LTC cannot be availed during

(a) Maternity leave (b) Study leave

(c) Commuted leave (d) Child care leave

WA WEAT: 10. FlT AT AR A Gt H epafa 7@t &ar §

(&) e 13T (@) f@gs 15T

(M) e 18T (7) e 22T
Question Number:10. Which conduct Rule disallows dowry?

(a) Rule 13A (b) Rule 15A

(c) Rule 18A (d) Rule 22A

weoT WEAn: 11. Rswarer el § #g & &a af a& @ & e § {REX #7 sorare Fia Fwar @
(&) fo=aFar (@) &.a.a e
(3N) g EER (o) e @9
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Question Number: 11. Who pays Employers’ share of contributions in respect of disabled employees for 3
years?

(a) Employer (b) ESIC

(c) Central Govt. (d) Employers’ Association

W WEAT: 12, e gaar 97 frwe s fear s §

(%) -2 (@) €r-11

() #-15 (7) €@1-18
Question Number: 12. Coverage intimation letter is issued in

(a) C-2 (b) C-11

(c) C-15 (d) c-18

9T F&A: 13. USOIR die &t Fad yraeaner & afenRa fear o= @
() arRT 2(6) (@) 9T 2(60)
(M) arr 2(7) (|) R 2(8)
Question Number:13. Employment injury is defined in
(a) Section 2(6) (b) Section 2(6A)
(c) Section 2(7) (d) Section 2(8)

wesT WEAT: 14. faegEa wAdt F fFw wrauer & afenf¥a frar @

() 9RT 2(8) (@) arT 2(9)

(31) &rRT 2(10) (') g 2(11)
Question Number:14. “Exempted employee” is defined in

(a) Section 2(8) (b) Section 2(9)

(c) Section 2(10) (d) Section 2(11)

9o WEAT: 15. URT (14B) &, sturad & sfacy & asitery v gl 1 fwedlt oft 9o, oge am 39
g fAseae & & & afenRa BFar = &
() IHTTEAT & 247 Fodg
(31) ITHTTEAT & 26T T

(@) ITATEEAT F 253 FdE
(81) IreTaEAT & 28T TTAE

Question Number: 15. In Section (14B), miscarriage has been defined as the expulsion of the contents of a
pregnant uterus at any time before or during
(a) 24th week of pregnancy
(c) 26th week of pregnancy

(b) 25th week of pregnancy
(d) 28th week of pregnancy

woT WEAT: 16. “ForgQy” frw wrauter ¥ aRenfya @
(F) GURT 2(9) (@) TrT 2(11)
(a1) TmT 2(19) (&) URT 2(22)

Question Number:16. “Wages” is defined in
(a) Section 2(9) (b) Section 2(11)
(c) Section 2(19) (d) Section 2(22)

WoT WEAT: 93. UF diffid safFa forad geiear sutid alat W Fe 1T ¥ (80%) IR IHEFT TF g1 F
fedea & NfFa 8 (60%), aF 3 TFR 39F Fao fraar arster aoar #r gfer

(@) 140 gfaera (@) 125 gfaerd

@M 120 wfaerd (&) 100 wfaerd

Question Number: 93. An insured person suffers an accident where he suffers amputation of both feet
(80%) and amputation of one hand (60%). Hence, the loss of earning capacity would be

(a) 140% (b) 125%

(c) 120% (d) 100%

e HEAT: 94. Y Fegad! yATOT v fFEd fRar Smar §

(F) B 7 H (@) w1 8 H

(M) ®H 9 H (F) & 10 H
Question Number: 94. Special Intermediate certificate is given in

(a) Form 7 (b) Form 8

(c) Form9 (d) Form 10

ToT WEAT: 95. fFw 4RT & IeTaR AR Raemr fr wita & ke fret FEd # aa@tea a@ B e

HehdT -
() T 63 (@) arT 73
(3M) &arT 83 (7) 9T 93
Question Number: 95. An insured person cannot be terminated while in receipt of S.B. under
(a) Section 63 (b) Section 73
(c) Section 83 (d) Section 93

WA WEAT: 96. Waagea AT wafFadt # Rftcar Raemer R smar @

(&) =TH 60 & TEd (@) fafawar 60 & dgd

() e 61 & dgd (o) Rafew 61 & dgd
Question Number: 96. Medical benefit to retired insured person is given under

(a) Rule 60 (b) Regulation 60

(c) Ruleb61 (d) Regulation 61

o WEAT: 97. AT H ¥ FleT Asgh 7S

() QT Yoo (@) 3FaRk# Ted

@ (F) wa (@) g (F) 3RFT H q IS g
Question Number: 97. Which of the following does not constitute wages?

(a) Service charges (b) Interim relief

(c) Both (a) and (b) (d) None of the above

T WEAT: 98. UG F T A RAbaar & v 7w F1 yraw §
() uRT 84 H (@) urT 85 H
(3a") GRT 85T A (6) &R 858 A
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Question Number: 89. An insured person was injured when an iron beam fell on his foot. It was found that
another workman had intentionally caused the beam to fall upon him and a police complaint was filed

(a) The case can be accepted as Employment injury

(b) The case cannot be accepted as employment injury

(c) The case can be accepted subject to recovery from employer

(d) The case can be accepted subject to recovery from the other workman.

Yo WEAT: 90. TH NfAT safFa i #la 100 Fre A Fu$ F A § g8, 79 RN q@wa & gwy ffda
afaa & e &1 ko vgr qur Alg & T -

() TE AHT IR e F §F 7 TSR AT ST Fhell §

(@) Ig ATHAT JSHIR T & FT H THHR Agr a1 ST Tohal &

(31) TE AT Rffca PN & TFAly W ThFER AT S GhaT §

() TE A AfSFHer NS i g W TFR T o7 Fhell &

Question Number: 90. An insured person fell from 100 feet and died. Seeing the dead body, another insured
person died of sudden heart attack

(a) The case can be accepted as employment injury

(b) The case cannot be accepted as employment injury

(c) The case can be accepted subject to medical opinion by M.R.

(d) The case can be accepted subject to recommendation by medical board.

T TEAT: 91. UH AT afFdT ' power presswmmgﬂ'@ﬁﬁﬂmm#mﬁﬁ,
9 AH RO & 38% 9 & FePlge 91T AT A -

() T HAHCT USHIR dIc & & H TAPR el AT ¢

(@) Ig ATHT JSPIR I & ¥T H AR Hd AT 7T ¢

(3T) TG FAHAT FIFAR T ATl IFd I HST =TT AT

(&) Tg AHAT TAENY Yo Sl GiId HEA AT

Question Number: 91. An insured person working in a power press accidentally cut his hand and died. Post
mortem found he had alcohol in his stomach.

(a) The case can be accepted as an employment injury

(b) The case cannot be accepted as an employment injury

(c) The case should be sent to Commission Workmen’s Compensation

(d) The case should be reported to local police

e HEAT: 92. ¥qEAF AN F O yraurr &gl fFar aar §
(@) URT 52T (@) 4RT 54T
(3M) ERT 55U (T1) &1 59T

Question Number: 92. Which Section lays down the law for occupational disease?
(a) Section 52 A (b) Section 54 A
(c) Section55A (d) Section 59A
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YT WEET: 17. S ¥ Pl ‘Ao ¥
() IMET Hear (@)
@) A stear (=)

Hedl
Hedr

e

Question Number:17. Which of the following is wages
(a) Travelling allowance (b) Conveyance allowance
(c) Daily allowance (d) Washing allowance

e TEAT: 18. FUE & fhdx Werd A9H & ey & ¥oha §
() T (@) ar
(an) e () IR

Question Number:18. How many members of Parliament have been provided to be members of the
Corporation -

(a) 1 (b) 2

(c) 3 (d) 4

weeT WEAT: 19. . RfFcar Raemsr wRyg § fFae Rifvcas daeg @ &
(%) T (@) a
(@) e (&) I

Question Number: 19. How many members of the medical profession have been provided to be number of
the Medical Benefit Council?

(@) 1 (b) 2

(c) 3 (d) 4

wool WEAT: 20. frdtEaT F13 fhaw 3F & o ¥
(@) At 3 @ (@) &8 3% HI
(31) Yeg 37 @ () FFg 37 &M
Question Number:20. Employer code consists of
(a) 9 digits (b) 10 digits
(c) 15 digits (d) 17 digits

e FEdn: 21. RfATHeT 64 & dga FaT g & WFaT §

(@) gur e (@) et

(31 39 fAcees (7) &= Agersh
Question Number:21. Who can relax Regulation 64?

(a) Head clerk (b) Manager

(c) Dy. Director (d) Regional Director

YT HEAT: 22. Gddfasd NqHIA & Y ST fdomy AT §

() AN Reems (@) faeaiRd SiHr fderer
(a1) Agea fecromst (87) 3TFARY 39ardr fRdemst



Question Number: 22. Which benefit is admissible on paid leave?
(a) sB (b) ESB
(c) MB (d) TDB

yeeT HEAT: 23. fhaA IR ATqed Reaenst 1 sprare fRar ST wwhar §

(%) & IR (@) & )

(I1) IR aR () IS TAT TR
Question Number:23. How many times Maternity Benefit can be paid?

(a) Twice (b) Thrice

(c) Four times (d) No limit

qeT HEAT: 24. HiT W1 #HiEH FREET T8 2

(&) T FT FR@ET (@) I3 FT HRETT

@1) T fAATT thaedy (9) ITael FT HRET]
Question Number:24. Which is not a seasonal factory?

(a) Sugar mill (b) Rubber factory

(c) Factory manufacturing tea (d) Rice mill

Yo HEAT: 25. TAH @ FIT 0 “gEE §

(&) RIar e 3gaw (@) R

(a1) =FE urerd () 3T Falr
Question Number: 25. Which of the following is a “shop”

(a) Real Estate Developer (b) Resorts

(c) Beauty parlors (d) All of the above

e WEAT: 26. F A8 AT i Hed e A afvla §
() gitel T &T
(@) Tafdest =leY 7 3HoieT &THdT & SJehdrel T FicRrd
(a1) 37eT-fetiest & AHS H Hoiel &THACT & oJehdlel T Ficrd
(7) egraarier A9 S g

a

Question Number: 26. The Third Schedule to the ESI Act gives
(a) Rate of damages
(b) Percentage of loss of earning capacity in different injuries
(c) Percentage of loss of earning capacity in case of amputations
(d) List of occupational disease

TR HEAT: 27. VSR AT & FROT TF aifAd safad A {cg & e 8, AR T 3qa i oY Reramsit =t
B3 FT AT &1 T 9IoT Far

(F) FAF I IOT & F 3/5

(@) 9A% @ quf a7 & 2/5

(M) T & & 3/5 FA ®0 & faenfaa famar S anfge

(&) qot &X & 2/5 §AT & ¥ Fenfaa frar smer afge

Question Number: 84. List of diseases for which ESB is payable is given in
(a) First Schedule (b) Second Schedule
(c) Third Schedule (d) None of the above

el HEAT: 85.mwmm§mwmﬁamﬁam%amwa:m%

() AT fecqarer (@) TAEaiRa AR et

(1) aRafta Sl faemsr (€) 3W A q HS UH
Question Number: 85. An insured person undergoing family planning operation is entitled for

(a) S.B. (b) Extended S.B.

(c) Enhanced S.B. (d) Any of the above

T HEAT: 86. §-9gHI 1S fRuF g@rT I AT S

(@) e (@) r@Er 3Ry

M) &H FrATe (7) 3RFT # & G
Question Number: 86. E-pehchaan card is issued by

(a) Employer (b) Branch officer

(c) Regional office (d) All of the above

Yo HEAT: 87. RAeer s Ay AEH g A Rafy A, sprare 7€t @ F1 FRoT gAa T e W
97 F9 IR fFAT ST §

(%) Thas 9 (@) fas 12

(31) vRAw 15 () vfde 18
Question Number: 87. When benefit is not payable, a regret slip is issued indicating reasons for non
paymentin

(a) ESIC9 (b) ESIC12

(c) ESIC15 (d) ESIC 18

9o TEAT: 88. &) ATE NS Raamsr IHA 9T 3000/- yiod fFv 3R & v Ryar i #la & a$
39HT 34 q¥fr aRT IF 39 A FT a@r a1 nomination T FaT ¥, I§ oferaTer fRam S war @
(#) TRl 63T H EIYUT TEdd el T (@) goiler U8 T & T

(a1) STRITARR FAOT 9T FEJT Hel TN (') IReFd H T FS a0

Question Number: 88. A widow in receipt of DB dies without drawing DB for 2 months amounting to Rs.
3000/- without nomination but her son aged 34 and the legal heir claims the amount. This can be paid by
(a) Submission of declaration in ESIC 63 A (b) Submission of indemnity bond

(c) Submission of succession certificate (d) Any of the above

o WEAT: 89. TF i =ufFd A w1 AR R W R @ grre & @, 3R @ 9w g
FHAR & T F TRAT 386 W W I o1 O 585 v o gfow Rera st grr = amr
() T§ AHAT USRS Tl & T H TAHR fhAT ST ThaTl &
(@) T ATHAT ARSI e & T & TEPR 8T fhar ST Fohar &
(a1) T AHCT TRR FRAT ST FeheTl & dercd foidiicier & aggelr &1 s
(&) Tg HAHT TR AT ST Hevell § dercd GEX HATNT & Tl T ST
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weeT wear: 80. fafaws 66 # Far wraurer fFam v @
() GEIEST T FET (@) g qEds # YfafSe & 3ferar gEes I Feer
(3T) GEIeaT TFdd 1 TE@-TET (&) forgerdr @Ry & 91 gHea RurE

Question Number: 80. Regulation 66 provides for

(a) Notice of accident (b) Notice otherwise than entry in accident book
(c) Maintenance of accident book (d) Report of accident by employer

yeeT WEAT: 81. geear R srar R smem e

() 24 GC & 3ieT (@) 36 g¢ & eI

() 48 TCT & I (F) 72 9 & 3R
Question Number: 81. Accident report is required to be submitted within

(a) 24 hours (b) 36 hours

(c) 48 hours (d) 72 hours

we wedr: 82. frw aRfPufay & o (verdw) & e ot A Reaamr 1 s fram o1 wwar @
() ST 98 H.A.A. ITIATT F ot §
(W) ST« gg &7 & FAT & qd @ & AN Befemer of @ g
(M) I g8 TAEaRd SART Rdemst & o I §
() 39Fd G

Question Number: 82. Under what circumstances, SB can be paid during strike
(a) When he is admitted in an ESI hospital
(b) When he is drawing SB form before date of commencement of notice of strike
(c) When he is entitled to draw ESB
(d) All of the above

gl §EAT: 83. fAdetor Fv F1 HFR §
() TSI gRaw FfeRil/gees
@) (F)h Gl TeTTh TIGeeh/39 A

Question Number: 83. Power of inspection are vested upon
Option: (a) SSO/Manager
(b) Assistant Director/Dy. Director in addition to (a)
(c) Additional Commissioner/RD/JD in addition to (b)
(d) D.G. in addition to (C)

ye wEAT: 84. AR H Fh e Rraa A Reemsr & #1 wrawre ¥, Fal R ¥

() el IeTeEr A (@) @ e A
(a1) ey e A (&) 3WFT H A P AGT
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Question Number: 27. An IP dies due to employment injury, leaving two widows. They will receive
(a) 3/5 of full rate, each (b) 2/5 of full rate, each
(c) 3/5 of full rate to be divided equally (d) 2/5 of full rate to be divided equally

Tl WEAT: 28. AR Al F FROT 0F AfAd safda & Fqeg & areh ¢, 3R T e S snfra Rar
IR AqF Gt A B3 F I §1 F 9T FEr

(&) T &X & 3/5 FA &9 ¥ fenfaa & smer =nfge

(@) gt & & 3/7 |AT & & fQenfard frar e anfge

@) qof & & 3/9 #ART & & fyenfad frar s =nfge

(&) o7 &X & 3/10 §AE &0 ¥ fasnfara frar s =nfge

Question Number: 28. An IP dies due to employment injury, leaving only dependent father and paternal
grandmother. They will receive

(a) 3/5 of the full rate to be divided equally

(b) 3/7 of the full rate to be divided equally

(c) 3/9 of the full rate to be divided equally

(d) 3/10 of the full rate to be divided equally

9T WEAT: 29. UF YOI UFT & WY JGT Fg Y 1 6 uFA IO wFT v 6 ufFd dar Hg A AT
Fr 7 {1 9T 9 # IR REER ¥ 3 | daw A §1 s § T @
() % 9drer grg caifeq Ay §
(T@) Fdel AT g e AT &
@@1) 9T 9FT It Ay FET § ifeR ddeT o arel RENGR FHERY F A o Heha &
(&) Y cafed T §

Question Number: 29. A petrol pump also has service station attached. 6 persons are engaged in the petrol
pump and 6 persons are engaged in the service station. There are four partners in the petrol pump, all
drawing salary. Which is correct?

(a) only petrol pump is coverable

(b) only service station is coverable

(c) Petrol pump is not coverable as partner drawing salary cannot be held as employees.

(d) Both are coverable

wooT WEAT: 30. OIS F1 Fla @1 4nr gERT RAfFT svER F graur G =
(%) &I 56 (@) urT 58
(31) ¥RT 59T (7) &RT 59T

Question Number: 30. Which Section of the Act provides for medical treatment?
(a) Section 56 (b) Section 58
(c) Section 59A (d) Section 59B



weoT wEa: 31. Rt gfasarr #1 FEarey R Frifeaa &9 & Rua 81 39@ wF aan FRey FEifead
& ¥ Rya g, et 22 FAay AT FY 1 &) 39 A9 3 IeT AET FRTET FHETad aF F
Ruq & S8t A 2, 7 v 8 FHUR AT 7Y T ¥ 3N @ FiT G &2

() T ArET HRATE ST I §

(@) ool 22 FAARTT & ATY AT FATET eTIied 9T §

(I1) IS ATET FATAT T AT 7T § FAIfh TeIeT FRATT cAIed AT g &

(&) Tl FEadYy cfea ATT § gTaifh Tl FRATeT caifed A9 A4 &

Question Number: 31. Head office of an establishment is in non-implemented area. There is a Branch office
in implemented area employing 22 persons. There are 3 other Branches in implemented area, employing 2, 7
and 8 employees respectively. Which is correct?

(a) All Branch offices are coverable

(b) Only one Branch office with 22 employees is coverable

(c) No Branch office is coverable since Head Office is not coverable

(d) Although Head Office is not coverable, all employees are coverable

9o HEAT: 32. FRAE 3R gfaseEl F1 gslitor v e ragsdar § ST F R 20 & @y
fraa aftta &

(&) fJ3fF=H 10 (@) f3afags 10T

@) 3w 108 (m) R_afes 104

Question Number: 32. Registration of factories and establishments is a statutory requirement as laid down
in Section 2A read with

(a) Regulation 10 (b) Regulation 10A

(c) Regulation 10B (d) Regulation 10C

9o W& 33. AR & wufea & oY -

(@) SheRT & ATETH ¥ HA 3N G FAARST T A fhar S =arfedr

(@) Faer IR FAaRET Fr anf@de fmar sar @y

(1) SHeRT & HATETH ¥ HENA, FI&T Td ATSTohel TSTd & HAAMRAT 1 FATSAT fram ST
aifed

(&) SheRT & ATETH ¥ MAT Fhd ST arel HeT, &t Ta isforel usTa & Shafeniar
& 1T & AT Tl & FHHART S e H {AAT & G 3T E § ST Y
FafSa fFar s oy

Question Number: 33. For coverage of cinema theaters,

(a) canteen and security employees through contractors are to be included

(b) only regular employees to be included

(c) canteen, security and cycle stand employees are to be included employed through

contractors

(d) canteen, security, cycle stand employees as well as employees of advertising agency
putting up cinema poster throughout the city and employed through contractor are to
be included

WA WEAT: 74. P ¥ waen w1 AfFER sfafagw aa o
() 2001 (@) 2003
(a1) 2005 (1) 2008
Question Number: 74. In which year the RTl Act was passed?
(a) 2001 (b) 2003
(c) 2005 (d) 2008

WA WEAT: 75. URT 45TT o) fhar ara

(%) 01/06/2010 & (@) 01/04/2011 &

(31) 01/03/2012 & (ar) 01/06/2012 &
Question Number: 75. Section 45AA was inserted from

(a) 01/06/2010 (b) 01/04/2011

(c) 01/03/2012 (d) 01/06/2012

weeT we&dr: 76. atfavfed 1 amder e fmar amar @

(%) URT 4587 & TEd (@) &ry 758 & o

(31) URT 858 & dgd (F) 3RFd H & FIg 781
Question Number: 76. An order for levy of damages is passed under

(a) Section 45B (b) Section 75B

(c) Section 85B (d) None of the above

Yo WEAT: 77. W $REW & Rfa & o @
(%) URT 86 & dgd (@) aRT 87 & dgd
(31) URT 88 & TEd (F) 9RT 89 & dgd

Question Number: 77. Exemption of a factory is given under

(a) Section 86 (b) Section 87
(c) Section 88 (d) Section 89

veT HEAT: 78. TS @ #y W & aE

() forad 31T H (@) fafaga 31T &

@ fafaws 32(1T) # () 3RFd # & Flg 6T
Question Number: 78. The ceiling of administrative expenses has been provided under

(a) Rule 31A (b) Regulation 31A

(c) Regulation 32(1A) (d) None of the above

Yo WEAT: 79. HWHAAT Hesh e fhaAm Srarm |
(@) T 11 & (@) WA 1 &
([N IRTH. 2 H (a) 3IRTA. 11 &

Question Number: 79. Incapacity reference is initiated in
(a) Form11 (b) RM 1
(c) RM2 (d) RM 11
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el HEAT: 69. AW HTFR & W FT YIGUTT Fal 4T AT &

(%) 4RT 59 H (@) fFgw 59 &

@) afage 59 # (F) 3RFT H q HS ¢
Question Number: 69. Provision of funeral expenses is given in

(a) Section 59 (b) Rule 59

(c) Regulation 59 (d) None of the above

woT WEAT: 70. AT AT-Rar F RfFcar Raener & amar 9 sy @ w4 @
(%) T 3000/~ YT #1E (@) ¥TF 3500/~ ¥ A&
(a1) ¥9d 5000/- 9f AE () F9& 6000/~ 9fY AIE

Question Number: 70. Income limit for eligibility of dependent parents for medical benefits is
(a) Rs.3000/-p.m. (b) Rs.3500/-p.m.
(c) Rs.5000/-p.m. (d) Rs.6000/-p.m.

weeT WEAT: 71. FE e ¥ e & a1 forAer Hew faes @ anfda @
() UrT 38 ¥ (@) urT 39 &
(1) URT 40 & (@) URT 41 &

Question Number: 71. Responsibility of paying contribution is entrusted to the principal employer in
(a) Section 38 (b) Section 39
(c) Section 40 (d) Section 41

e WEan: 72. Afagsw 2(=) & dga “RAes” #1 3 ¢

) FRTET AAAIH & dgd AT AT deprel AR AT AAT Jaersh

Question Number: 72. “Employer” under Regulation 2(g) means
(a) Principal Employer
(b) Immediate Employer
(c) Principal or Immediate Employer
(d) Principal or Immediate Employer or designated Manager under Factories Act

WeT HEAT: 73. UH WEE HI 4 fA%UF @RI penalty e fam wm g1 3@ rdier IAT FEr aifRd-
(%) AT INGFT H (@) FgIfeieers &
(M) 3reTer, TR a@fafa & (7) 3reTeT, SIS AT @

Question Number: 73. An Assistant has been awarded penalty order by the Regional Director. He should
submit an Appeal to

(a) IC. (b) D.G.

(c) Chairman, Standing Committee (d) Chairman, ESIC
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9T WEAT: 34. AAFar F1z #, ggd a1 IHF T P13 ¢l HTS A IF FAT §
() § &I (@) 99 HIZ & &7 FIS
(3N) AT FIS (&) 3T g

Question Number: 34. In employers’ code, the first two digits represent Region code. Next two digits
represent

(a) Sub code (b) Region code of sub code

(c) Branch code (d) Industry code

TR HEAT: 35. fawair FHARAT F Gollga Fa F fAd Raamrar #1 wgeras vfawa #=r ¢

(@) 25 gfcrerd (@) 40 wfaera
(3N) 60 ufaerd () 65 wfaera
Question Number: 35. What is the minimum percentage of disability for registering disabled employees
(a) 25% (b) 40%
(c) 60% (d) 65%

TeT FEAT: 36. AN HHT=ad &7 # PAlFansit §F RA EH A T FAT §

(%) 1 wfaed (@) 2 gfaera
(31 3 gfaerd (g) 4 gfdera
Question Number: 36. What is the rate of contribution for employers in a newly implemented area
(a) 1% (b) 2%
(c) 3% (d) 4%

W WEAT: 37. ANJed Raensr & ¥ spraa fr T FAT 8

(&) 70 gfaerd (@) 80 gfarera

(31) 90 wfaera (&) 100 gfaerd
Question Number: 37. What is the rate of payment for maternity benefit

(@) 70% (b) 80%

(c) 90% (d) 100 %

TeeT HEAT: 38. IS sical Fw A ¥ AT AT §
() Teia el s foera dierer
@1) Telg ol sifFe Qe Arerer

(@) TSig e Td AfAS Jrster
() Isia Il AfAE FHearor Jreter

Question Number: 38. Unemployment allowance is also known as
(a) Rajiv Gandhi Shram Vikas Yojana (b) Rajiv Gandhi Sarva Shramik Yojana
(c) Rajiv Gandhi Shramik Vikas Yojana (d) Rajiv Gandhi Sharmik Kalyan Yojana



W EAT: 39. faeyFd AU 97 ¢ A
() uifeq Ao a7t & I 3ifecy
(@) aemaR 3R FrEifad &7 7 FE w W §
(1) T AT F AHHAR Ay U §
() 3RTFd # & FIS TGS

Question Number: 39. Exempted employees are those who
(a) are not coverable such as Apprentices
(b) are working continuously in a non-implemented area
(c) are drawing wages above the wage ceiling
(d) None of the above

9o HEAT: 40. IRER i aiemT & i afAa §
() FSTY AT § HfRFaH HsiqQ U= arell qicet
(@) g E AT T 3H o F1 GT
@) FIAE. FF F 9 g arer ATAr-Tar
() favar a7 o AT afdd ) R §

Question Number: 40. The definition of family includes
(a) Wife drawing above the wages ceiling
(b) Son up to the age of 25
(c) Parents drawing pension form ESIC
(d) Widowed mother in law who is dependent upon the IP

geeT HEAT: 41. TR GATY T 56 & O FRAT F1 §

1%

() 9= (@) ara
() | (&) IR®
Question Number: 41. What is the quorum for meetings of the Standing Committee?
(@ 5 (b) 7
(c) 10 (d) 12

Yo WEAT: 42. 01/05/2010 ¥ Frgh WATFAT 2

(F) T T 8ok I A Al (@) T UgE gAIR YAH Al

(31) I 3HORE IR Tcdeh Hglel (7) I TFHIE oIk Tcdeh Hglol
Question Number: 42. Wage limit from 01.05.2010 is

(a) Rs.10,000/- p.m. (b) Rs. 15,000/- p.m.

(c) Rs.18,000/- p.m. (d) Rs.21,000/- p.m.

e WEAT: 43, Arfaf@d # ¥ fi9 309w & Jea swfca g §

(%) T Hifos S I o § (@) T qER S AT ol ¢
(31) TH A S adA ofdT § (a) gehrel S ddeT ol §
Question Number: 43. Who, among the following are coverable under the Act?
(a) A proprietor drawing salary (b) A partner drawing salary
(c) A Director drawing salary (d) Advocate drawing salary
10

v HEAT: 64. AN & Adew - gl MAT AfFa F dfer a1 dar f oat # 37 FuiRa a8 &,
i

() 55 @rer (@) 58 @ref

(31) 60 HTet (1) 65 FTer
Question Number: 64. Superannuation, where no age is fixed in contract or conditions of service of an
insured person, means

(a) 55 years (b) 58 years
(c) 60years (d) 65 years

gesT FEAT: 65. F.U.48. HARAIT & FiT ¥ 3reaw F 3w Rt F Y @ &

(&) 37T Il (@) 3T IV

(31) TV (7) 3WRFT A T HIS 78T
Question Number: 65. Which chapter of the ESI Act deals with “Scheme” for other Beneficiaries’?

(a) Chapter il (b) Chapter IV

(c) ChapterV (d) None of the above

WA HEAT: 66. TP URT F IHTAR T WATISS FIam HfAFry et oft wfossrer ar sramen & el sit
3R T # I & X e ¥ 3R smaaw § T ufasew & #15 st wmd = @rer @@ w9
I grAaS S 3URRYfd vd Aogll & W fd g 3HS qdetor ¥ IEd Han

() ©RT 40 (@) 9T 41(10)

(1) uRT 44 (&) orT 45

Question Number: 66. A Social Security Officer is empowered to enter any establishment or factory at any
reasonable time and to require any person found in charge to allow examination of books of accounts and
other documents relating to employment of persons and payment of wages, under which Section?

(a) Section 40 (b) Section 41(1A)

(c) Section 44 (d) Section 45

yeeT WEAT: 67. Rt FHAA & suifed ¥q Al €A FE & a$ ¥

(%) 9RT 50 # (@) f&# 50 &

(31) URT 52 H (u) R_fagd 52 &
Question Number: 67. Wage limit for coverage of an employee is given in

(a) Section 50 (b) Rule 50

(c) Section 52 (d) Regulation 52

W WEAT: 68. iAW FEHR & @ Hr ufyr F ¥

() TAT UTT §AIR (@) T 91 g9k

() FIF AT g 9ra Gt (9) 9 gH g
Question Number: 68. What is the amount of “Funeral Expenses”?

(a) Rs. 5000/- (b) Rs. 7000/-

(c) Rs. 7500/- (d) Rs. 10,000/-
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ves §EAT: 59. AT #1 Fla @1 4, wEE F AuRer § Feafeua §

(F) URT 45T & (@) URT 45T0T ¥
(1) ORI 453 ¥ (°) 9RT 458 ¥
Question Number: 59. Which Section of the Act deals with determination of contributions?
(a) Section 45A (b) Section 45AA
(c) Section 45C (d) Section 45E

Yo WEAT: 60. UF fdlear & sfta & a1e, fhaa et & sfiay T #t wSiiga fFar smar @il -
(@) e T (@) ad fe=
(@) &8 fe= (o) <eg e

Question Number: 60. After coverage of an employer, within how many days should an employee be
registered?

(a) 3 days (b) 7 days

(c) 10days (d) 14 days

Yo WEAT: 61. TF goas IF #ff TRER F1 TeT @11 §1 o Teor & TAT F 39 H 741 FR
ST ARy -

(F) TETH =TT T 3L (@) I9d/AIR TTfelehl & JATOT 95

(31) TUHT FUras ¥ gA0T 97 (F) 3RFT H & o

Question Number: 61. An adopted son is also a member of the family. What should be accepted as proof of
adoption?
(a) Order from competent court (b) Certificate from panchayat/municipality
(c) Certificate from local MLA (d) All of the above

el HEAT: 62. HTAT RAATH FT review Fd FAT T FhaT &
(®) 99 & 25 9§ QX gl A1 G AT fare (@) faear $ #Alq a1 gAfdare
(31) FONRIA T & SToH (@) 3T § g

Question Number: 62. When can dependents benefits be reviewed?
(a) Attainment of 25 years by son or marriage of female child  (b) Death or remarriage of widow
(c) Birth of posthumous child (d) All of the above

9o HEAT: 63. SAH ¥ FIT Major Penalty gl &
() T G yera & dae gy W Ah (@) F=l vd & Ad g W Ak
(@) feard darfgfa (7) 3WRad & q FIg A8

Question Number: 63. Which is not major penalty ?

(a) Stoppage of increment without cumulative effect  (b) Stoppage of increment with cumulative effect

(c) Compulsory retirement (d) None of the above
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9T WEAT: 44. fFE T F FHAR cwfed I a8 §
(%) SHER & HHAAN S SHER & el S.UH.INSH. HT HEAT & AT HRET H F
AT &
(W) SHERT & FATN S FREE & IR 7 T gE () #aT & AT 7 Fd ¢
(a1) SHERT & FHAR ST HRE & TRAT A [&GH1 87 Toh 78 HaeT & FHA0r F HIa &
(') 3WFT & & Tl

Question Number: 44. Which category of employees are not coverable?
(a) Employees of contractor working in the premises of a factory having separate ESIC code number
(b) Employees of contractors engaged in constructing additional (new) building of the
Factory in the premises
(c) Employees of contractors engaged in constructing addition (new) building for sale in the premises
(d) All of the above

YT WEAT: 45. Pl W FYT G ¥
(%) =Ted g AT SSH T 0T gl S STl
(@) 3MerEreT & Il 8 X TISH T UG &Eh T S
(a1) e & ] TSA H AT H S §
(6) 3R TTSH FHI 0T SAIed U G aler & o T e &l

Question Number: 45. Which statement is correct
(a) Overtime is not taken into account for coverage
(b) Overtime is not taken into account for payment of contribution
(c) Overtime is taken into account for coverage
(d) Overtime is taken into account both for coverage and payment of contributions

TR WEAT: 46. $AH ¥ FUT AIGY 78T ¢

() aTNF ST (@) dcaTge SiTd

(31) IcuresT SeTd (g) 39AFT & § gl
Question Number: 46. Which, out of the following, is not wages?

(a) Annual bonus (b) Incentive bonus

(c) Production bonus (d) All of the above

YT TEAT: 47. 548 @ &Il v yu Ao ¢
(F) Facd: FHFed (@) FREE AT 7 aReNd Feoler
(31) FFIAT & AR (AT et # oigaR) () IWIFT A § @l

Question Number: 47. Who among the following, is a principal employer?

(a) Company itself (b) Occupier as defined in Factories Act

(c) Directors of the company (except nominated Directors) (d) All of the above
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wesT WEAT: 48. N wwfFa A g F sfafafre syar A ghawr frasr e & T 39y § -

() 39 feeT (@) 78 feat
(3 6 Afgar (7) 2 grel
Question Number: 48. Superspeciality treatment is now available to an IP after contributing for
(a) 39 days (b) 78 days
(c) 6 months (d) 2years

YT HEAT: 49. UF FAAR FT a1 AH-2018 # 18000/~ TUX 4Tl I§ HA-2018 H 21000/- 3R T,
2018 # 25000/- T9X & I, A $4H ¥ FeT AT FUT W T

(®) € SeTg, 2018 F 3HeUEleT a1 s T &M (W) a8 3, 2018 § 3{MET o dg X I

(1) @& 31, 2018 ¥ 3RETA SaT g F ST () 3R § & P

Question Number: 49. The salary of an employee was Rs. 18000/- in March, 2018. It became Rs. 21000/~ in
April, 2018 and Rs. 25000/- in July, 2018. Which statement is correct?
(a) He will stop contributing from July, 2018
(c) He will stop contributing from April, 2018 (d) None of the above

yee W&AT: 50. H.A.3ME.3N. FT Adew &
() Aol dfeerdh Seararadl HThaR
(31) T Ufseldh Sehaele TR

(@) T UIdse Sohaele Thar
(6) FgeT IeoT Searalady JTAER

Question Number: 50. CPIO means
(a) Central Public Inquiry Officer
(c) Central Public Information Officer

Yo WEAT: 51. AlGed fecemsr & fd grar R smar @

(b) Central Provident Information Officer
(d) Central Patent Inquiry Officer

() w1 17 (@) w18

(am) w19 () B 20
Question Number: 51. Claim for maternity benefit is given in

(a) Form 17 (b) Form 18

(c) Form 19 (d) Form 20

gesT HEAT: 52. 3ifAH TEFR & @9 ¥ @ A O 22 F Rwy Far ¥

(®) R_fATs 958 & dgd (@) faferger 954

@31 fafazsr 953 (7) fafags 958
Question Number: 52. Claim for funeral expenses is given in Form 22 under

(a) Regulation 95B (b) Regulation 95C

(c) Regulation 95D (d) Regulation 95E

el HEAT: 53. HTUNYT FANT [{faas 520 dgd a1 Jmar &
(F) B 8 H (@) w1 9 A
(ar) w1 10 & () v 11 &
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(b) He will stop contributing from October, 2018

Question Number: 53. Abstention verification is done under Regulation 52A, in
(a) Form 8 (b) Form9
(c) Form10 (d) Form 11

g HEAT: 54. TARN IH9erar feaens & v e AT o3 RATAT 107 F dgd STAT FEAT ITETS 8-

() W 20 (@) B 21 &
(31) W 22 H (a) W 23 H
Question Number: 54. Life certificate for PDB is required to be submitted under Regulation 107 in
(a) Form 20 (b) Form 21
(c) Form 22 (d) Form 23

WoeT WEAT: 55. A F Ierare A & &F Y swrer v ¥ ww o @

() RAfge 31 & (@) f[dfag#s 31T &

(M) Afags 31 & (a) R_fags 318 &
Question Number: 55. Rate of interest for delayed payment of contribution is given under

(a) Regulation 31 (b) Regulation 31A

(c) Regulation 31B (d) Regulation 31C

Yo WEAT: 56. FHARY T AT oy (¥ H3wer 3w wfdw) fafaaer, 1959 #r il sepaet & dea
st $r AT iy F=ar §

(®) 30 fe=t (@) 45 e

@) 60 &t (7) 90 &=

Question Number: 56. What is the limitation period of Appeals under the Fourth Schedule of ESIC (staff
conditions of Service) Regulation 19597?

(a) 30days (b) 45 days

(c) 60 days (d) 90 days

99 WEAT: 57. Major Penalty & Y 9fFar &.a.dt. 9w (vow &3ya 3w afdw) [Rffww &
sregqet o fom o

(&) T Ty (@) gF e
(ar) e 3eTeEr (') 3WRed & q FIg 80

Question Number: 57. Procedure for imposing major penalties is given in which Schedule of ESIC (Staff
condition of Service) Regulation?

(a) First Schedule (b) Second Schedule

(c) Third Schedule (d) None of the above

99T WEAT: 58. “FHay” gfenia ¥

(F) GRT 2(6) H (@) arRT 2(8) &

(M) ORT 2(9) (7) arT 2(11) &
Question Number: 58. “Employee” is defined under

(a) Section 2(6) (b) Section 2(8)

(c) Section 2(9) (d) Section 2(11)
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